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Note .— (I} Answers may be written either
Hindi; but the same medium

throughout the paper:
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(if) The maximum marks printed on the question paper

are applicabl.e for the students of the SOL (Cat ‘B').
These marks will, however, be scaled down propor-
tionately in r;spect of the students of regular cotleges
at_the time of posting of awards for compilation of

result.
Attempt Al gucstions.
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Distinguish between any one of the following : 5
Freffen § @ fodl ww d 9 PR
(i)~ Truth and Validity
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{ii) Semencg and Proposition
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Exﬁlain and - .illustrate the -agreemem and disagreement in

attitude. : _ 5
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Write short notes on any one of the following : 4
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(i;') Pe-titio Principij
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Identiﬁr and explain ény one fallacy : - 4
fﬁﬁ TF A F qEEEIR "zmaﬁ T
S
() But can you doubt that air has weight when you
have thé clear testim;my of Aristotle affirming that
all f.;lemems have weight including air. and

excepting only fire.

P.T.O.



4,

()

(4 ) " 1062
F MY 39 AR A HIY ¥ GFA § F g
ﬁw%mﬁw@mmmmmw
¥ o o W A R A ¥ o
T it Wit ¥, g o e fem @ W
4 |

(i) Aspiriﬁ relieves pain since it is analgesic.

tfer e ¥ w=ifs 97 wafTes &)

Reduce the following propositions into their standard form

and give their contrapositive (any two) : . -6
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() Only the intelligent will prosper.
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(i) A few doctors are registered.‘ B
(iffy Not all roses are red.
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Wl.'ite a short note on fhe fgllowing (any one) : 3
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6 D'is:juncriv'e-syuogism .
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If “No politicians are honest™ is true, what can be
inferred about the truth and falsity of the following
propositions : : - -4
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{(H - Some non-honest beings are not non-

politicians.
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'(:'0 All honest beings are politicians.
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(@) Use Venn diagram technique to determine the validity/

invalidity of the following (ary one) - . 2
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- Arrange the following syllogism into siandard form, name

its figure, mood and test its validity (any one) : 6
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(7 Some writers are artists because all artists are
sensitive people and some writers are sensitive

people.
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(i Al protei.ns are organic compounds; hence all
enzymes are prqtein;;,-'as all ehzymes.are organic
compounds_.
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(@) Symbolize the fo-l.lowlilng (any three) © 3
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(i) Unless it_ trains in time, harve'st will no; be good. '

T e | |

(i) You will win a prize its and only if you come

first. -
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Using truth table method determine the validity/invalidity

of the following (any one) : 4
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